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Question #1 

Answer 
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Identify the numerical pattern 
below. 
 

3, 6, 9, 12,… 

Answer #1 

Choose Points! 
©TeachingintheFastLaneLLC2018	

+3 

Question #2 

Answer 
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Identify the pattern shown in 
the input-output table.  

INPUT OUTPUT 

3 7 

9 13 

10 14 

14 18 

Answer #2 

Choose Points! 
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Question #3 

Answer 
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Create an input-output table to match 
the situation. 
Greg is making goodie bags for his 
birthday party. He is placing six items into 
each bag. How many items will he need 
to fill 5, 7, 9, or 11 bags?  

Answer #3 

Choose Points! 
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INPUT OUTPUT 

5 30 

7 42 

9 54 

1 1 66 


